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2 165,340 162,340 3,000
7 230,000 230,000 0
= 9,000 9,000 0
Al 2,113,760 2,205,930 £92,170
SASY NFLEH 531,027 511,529 19,498
201 Yete Al 187,586 198,386 £10,800
01 At 22t 59,970 70,770 10,800
OsYIsFEX 7Y K] 0 10,800 £10,800
301 YerE A S 14,770 13,300 1,470
09 A HI 2 A S 14,770 13,300 1,470
OSYUNELRY 7,008 * 2702 * 344 5,670 4,200 1,470
401 Al HI L S CHHI 71,620 63,620 8,000
01 Al&HI 71,620 63,620 8,000
OFZASY2 SRGIA HIFH L =Z I
A 8,000,0008 * 14! 8,000 0 8,000
405 XtoHE S| 50,928 30, 100 20,828
01 LS EH S| 50,928 30,100 20,828
OZASYE DKXT AX 7Y
12,000,0008 * 1CH 12,000 0 12,000
OAHIMIAMZY DSSY X448 A8 BT H 8,828 0 8,828
oum 1,500,002 = 1Cf 1,500 0 1,500
O®0H013 417 490,0008 * 3CH 1,470 0 1,470
OS&0t013 420,000% = 3CH 1,260 0 1,260
O®« 0013 oLt £20,0002 * 6LH 1,320 0 1,320
OALH(H2E) 650,0002! * 4CH 2,600 0 2,600
o 467,0008 * 104 467 0 467
OXH A0l 2 211,0008 * 104 211 0 211
sgis 29 356,658 356,658 0
201 Yere A | 125,620 125,620 0
01 AlR 22t 80,620 125,620 45,000
O=POIHs 22 AH0lE(ASEY) 0 0 20,000 £20,000
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2N
X ZH -
L= B

el

sII=dEH SAsES
CAsgEsd
CANsE=EY

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
FEERIEEREREERS 66,000,000 66,000 60,000 6,000
= 33,000 30,000 3,000
Al 33,000 30,000 3,000
HHSAAH (SAISHEH TASAH) 40,134 35,184 4,950
=3l 40,134 35,184 4,950
PICET 40,134 35,184 4,950
202 04l 22,950 18,000 4,950
01 2LhotHl 6,750 10,800 4,050
0JI=Ye 30/t 6,750,000 6,750 10,800 4,050
02 =% 01| 16,200 7,200 9,000

OMAEHT U (ZHATE)

200,0002! * 5% * 9% 9,000 0 9,000




